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And if it is so, let him answer him, etc. — % 1w RPOR AN

Overview

The 7wpn (who began by asking 71X °» 0°°nn1) understood that the %70 (who
resolved the contradiction between A" and the 71wn of W2 wWIpnM)
maintains that when the 5"pp are alive the entire animal, including the
[eventual] 72370 Miann, is 0°%vya mn (according to 2"°7). The Jwpn cited the
question of X117 (can we reconcile the view of 1"7 with i"77) and the
response of X127 (that it can be reconciled). The jwpn concludes his question
by asking 713127 X7 "7 K7 w02 "0 KRR XY Our moon will explain this
question.

— 9555931 Y015 5295 13991 %1 DNNT NIPN ON) “WI929

The explanation (of the s"1wpn question, and in particular of) the phrase XY

'RN°R is; if it is so, that when the j27p is alive it is considered the owner’s
money, according to 2'"';7151 -

— 29PN RN NN MINNI 1DaN

Even by 72 nman» which are fit to be offered as a 127p;” if this is true, then

X2 -

— 19295 AN 93 N9 99N YINI 297 XN NYD WYY

Should have answered X279, that the interpretation of 2R =92 ;729 9»K 1''9

(that we can only be discussing a 1712 732) is according to the 3129 who

argue with 3"7°71 and maintain that 5"pp (which are 72772 "X7) are not 0°%va 1. The

reason this should have been the answer instead of the given answer (that "7 is

discussing a 2"12 7132), is -
— 595931 YO %295 M1 Y *Twos Nt

for in any event, 1" cannot be in accordance with 3";7%9. This concludes the
explanation of the question "2 XN°X OXY'.

" This moo1n should be studied in conjunction with the previous 2 7" Moo

> When the term w172 is used, it (usually) means that there is some difficulty in the apparent reading of the
text; or that the interpretation is not what one may have assumed. It is possible that in M201n text the words
'a»nn 121 MR 27" did not appear, therefore N1©0IN explains what is meant by Xn°X ox1. [Alternately n1901n
may have had the same text as we have, but wants to emphasize that o>nn X177 1117 refers specifically to
727pn° 7 370 niann.] The main difficulty would seem to be how can the Jwpn ask that we should answer
that 1" does not follow 3"71"7 (he only follows the 1137); when X1°27 was able to establish that 1"9 can agree
even with 2" (and certainly with the 1127). It is this difficulty that n1201n addresses.

? See previous 011 7"7 MooIN that the 7wpn was P71 from the s'1¥0 answer 121 017 37777 RP °2, that
37771 maintains that o> even the 73375 Minn (the °37377 Pon) are 2°9v2 1n even when it is 72977 X7,
tis possible that 1" (who maintains that 1"73712 a 7102 is 2°¥2 171) cannot be according to the 1327 (who
may maintain that a 7132 is considered 723 71 even 1'7772 [see later in this Md0In]). Therefore MdoIN says
Twa1 mn; meaning whether or not 1"7 can agree with the 0’121, however he certainly cannot agree with
3", See 11"k footnote # 99.

3 If we assume the $'137n view that 3";71 maintains that the 71175 minn of "pp which are 729p7% "X are
011 0°9¥3, then obviously the 1775 should be permitted to sell the 32 even n*27 112, since it is 1mn. There
is no way in which 1"1 can agree with our 1¥7n. Therefore the jwpn concludes that (once we see the
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Mmoo anticipates a difficulty:
— (o 3, 97 NI9N 902 1NPY YIYNT RN NNN 17 XY 1T XI2D 29D

And according to this logic of the 7wpn (that 17 follows the opinion of the
1127; not of J"TM),G then, that which is indicated later in the end of 79

7927, will not be true. The X n3 there indicates -
— NN AT 1PN NP D93 N KD 91937

That even nowadays (after the n°277 127117) a 7123 is not included in the term
"',

mooIn explains how it is indicated in that X773 that a 1"'772 7132 is not '1@571’:
—INNY PYIPIND 2109 HY MY MW "N29) »AN INYaY

For »2X and X271 argue in the case where an ordinary ox and an ox of 105

PRI together gored a third ox® -
— 7Y P99 K97 9V 91922 PN INTIN? 13529 YD)

And 783 X7 "1 explained that a PwTpIAN *9100 MW refers to a M@ 23

(that is a 0¥ ¥3) which is not redeemed” -
— 1 1tya oY YIARY 19 910D 129K 1WI999)

And one must interpret w7 °2100 MW as XA O interprets it, as I will

explain there 77''1¥2 -
— 5999 N2 NONOM

And it is assumed that X271 »2X were arguing about a MW M>2 in their

days (in the time of X371 »ax [717 212]); and the implication is that it is 72 0.
However according to the argument of the Jwpn that 1"7 follows the opinion of the j127;
the implication is -

— VTN PN NN NNYY XY NN Ity
That nowadays everyone agrees (both 3"7°7 and the 1127) that a 7122 is 7R
V37T and not M2ax . This contradicts the X in 7797, This issue will be addressed
later in this M50

MooIN returns now to our XN3; after the 7wpn posed his question:

exchange between X217 and X1°27) we cannot accept the answer of the 7¥7n (to reconcile the 7v°w of 3"
with the m1wn of 1p%m2 wipn), but we must offer a different answer (as Moo will shortly mention).

% If we maintain as the Jwpn suggests that 1" is following the view of the 1327, it is presumed that (even) the
1127 agree that 17712 7192 is 2°9¥2 171 (and therefore the 0°372 may sell a 1712 °n an). Both 3" and the 7120
agree that a 17712 7152 is 2°%¥2 171 and would be 1°praa 21 if it damaged someone, for this 1131 is
considered 17v7 MW (it is 2°%v2 n) and not wIpn YW Ww. This contradicts the X3 later which maintains
that even 1"7712 a 722 is not considered 17y MW but rather w7pn v MW, as Moo explains shortly.

" Our X077 there is X127 instead of X2

¥ The argument there consists of how much the L1771 % MW is required to pay. Both agree however that the
WP 2100 W is exempt from payment since it is not 1Y MW but WIpa YW M.

’A TWIPAT *2100 M means an ox which was designated as a 27, and became unfit to be brought as a
1277, A 01 Hva 02 is thus a PwTIPHT 100 W, A 01 HY1a 7192 need not be redeemed; it is 7N to be eaten
without 179. [a 7PwWTpPna 2100 1M which is redeemed is certainly 2°7¥2 %1 according to all.]

1 307 1w .

"' See “Thinking it over’ # 2.
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— 19 D) XD W) HNIN 13539 ©9) 291 IRV NN MINHD NIN VUM
And the X ) answered that there is a different distinction between the rule
of 3"71"7 (that 2"pp are 0°%v2 11an) and the 71wn (which states 71X P212 WIpnAN
nwTpn) [not the distinction between 2°°nn and 7w W nX?] but rather that
7375 nann are different from the *0°>v27 pon. And this is the way n1''1 is

2T (CIRW 73170 NNk X9X); however '@ was not 713 this way (as the 1"
and mMoo1n) but rather 121 NARP 7172 NINA.

According to this X3p0n we can reconcile our X210 with the X723 in the end of 77577 p75:
— 9931 Y09 %395 NIN NNPINI KXY 19N 297 7NH1N RNV

And now (that we are differentiating according to 3"77°7 between 7172 MinN»
and 2°%y277 pon) the statement of 19 (that [only] 1712 may a on 7152 be

sold) can be established only according to 13;".‘M, for he maintains that 5"pp
are 0°9v2 11 (it they are not ;721775 NNy [and/or not 72777 MX7)) -
— 19295 1IPY N2 ANT ROMIYD)

And the argument between X371 »°aR later (which indicates that a 7132

1"712 is not V1T 1MN) is according to the 3339 (who maintain that even the pon
2°7v2a71 [and that which is not 7729732 IR1] is M2 1127).

mooIn qualifies the position of the 1127: »
— A NN NONRT 01 DY 1D9N M71932) 19199 13390 1N DINN RPITT T AN

It would seem that only when the 722 is alive is it considered 23 Jnn
according to the 3129, even if the M52 is a 2% Y¥2 (and it is not 72117 "X at
all [even n°an m71]), nevertheless it is considered Ma) 7wn since it is

forbidden to shear it or to work'® with it -
— 0P VIPNN N°av It 199N 193) PN VN’ 1Y AVINY NN YaN

However after mwonw why should the [0 va] 7102 be considered 1

m2s'® even when the p'"»m°2 is standing -
— DYINNY 29V 99930 199N NPT

For one may even give a 7gentile to eat from the [ Hva] 702
1IN 2289 VUDANT (x5 91 mama2) PYTPIND $909 93 H993 NOINTI

As it is stated in a X2 in PRIPT 0D B2 P19; for the 1102 is likened
to a deer and a hart."®

12 31901 i referring to the 0°2¥277 P21 when he says that "pp is 0°%v2 7% but not to the 711775 nuann. The mawn
of \poma wpnn is referring to the 711775 mann which is never 0°2v2 11mn. Therefore a 7192 which is 73772 Mann
is not 2°9¥2 Pnan (if it is 72777 MR as it is V"R 027 A1)

" The 1221 maintain that >"pp (including [212 %¥2] 7132) are always 723 1mn; even the 2%v27 pon (since that
is their n2nn with 2" [for concerning the 71175 Mann even 3"77°7 agrees that it is M2ax 1an)).

' Others are 'R 0.

' See “Thinking it over # 3.

' See previous a»mm 1"7 Moo footnote # 3.

"7 In 23,7 (7%7) 0127 the P10 states concerning a 22 that 2°X21 *$2 17> MM Kub W2IRN Twa. Just as a
9°X1 2% may be eaten by a *131 so too a 7132.

'8 "5 interprets this P02 as follows; 022212 7217 TN 12100 AR 022912 *721W7 N K 228 71 PR 2K,
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Summary
The question of the Jwpn is if we assume that 3"7°7 maintains that 2°°1n even

the 71375 Minn are 2°%¥a 1Mn then obviously he disagrees with 1"1; why
should X217 and X21°27 discuss the issue of 3", The conclusion is that "7
maintains that only the 0°%van pon are 0°%va 17»; not the 21707 PO [and
therefore 1"7 is in agreement (only) with 1"73>7]. The 7127 maintain that a 7122
even 1"'7772 is 23 111 even if he is a 2m Pva. However after nvonw a Hva 7102
oW is D9v2 n even noa Tara. "’

Thinking it over

1. It seems evident from the exchange between X217 and X1°27 that 19 is
according to 3"7°7. However how did &27 and X1°27 surmise that 1"9 agrees
with 3"77? Why did they not (just) say that 1"7 1s according to the 71277!

2. Moo maintains that according to the jwpn there will be a contradiction
between our X723 (where the 7127 maintain [according to 1"7] that 77712 7102
is 2°%v2 1) and the X3 in 7797 P19 (which maintains that it is 7123 1797).
To bolster this contradiction M90IN mentions that the nponn there is
presumably "5i12 (3090 o2 ®nnomt')>’. Seemingly the contradiction would
be valid even if the np12rin is N2 a1, They are discussing a 709 W
TWIPIMI (a 21 Hv2), which is not 727p7% X1, where 1"1 (the 7127) maintains
that you may sell it for it is 2>9v2 17! Why the need to mention that Xanom
»ho o ?!!

3. mpPoIN states that a »nn 722 is considered M2 1 (according to the
1127), for it is 772w 732 Mor.** Seemingly all PwTPRA 2109 are 732 POK
772y and nevertheless they are 0°%v2 1n. Why is a M52 considered  1n
M2 (just) because it is 7712w 732 MOR?!S

19 According to the 7327 all M327p are 7123 1 (both 2*mn and AYnw INR?) even if they are not 72777 XD
(like a 17712 7192 or ?™n2). The only exception is a BAWIW? O ¥2 7152 (and 17OV PWTIPNAT >210D).
According to 3"71™ the 0°9¥27 pon is always 0292 17 and the 71172 NInA is always M3 1n except where it
is not 727P777 MR,

0 See footnote # 11.

1 See 1"nx footnote # 103.

22 See footnote # 15.

¥ See a1 1"72 oW MK *"9a.
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